mERN | EEOEE | 128 |siERAL | 1~2B%5 | siEREAL | | HEN | EE0ER | 128 | siFRAL |1~12B% | siFEREAL
" R 11 -35.3 125 1.6 R 22 -40.5 490 9.9
HR 0 - 149 -31.3 5 24 22.6 :
. i 22,6 -27.6
. . - 399 27.6
EWEE%B—I—SUEI = G 0 - 1 0.0 JI| |5t 0 2 0.0
= I IJ =5 S 2 - 9 -97.0 i Sy 16 -46.7 176 -36.9
(-I 2 ﬁ ) it 13 -23.5 284 -55.9 &t 62 -36.7 | 1,067 -22.5
. R 27| b.4f 151 7.9 Fig 9 ~25.0 180 6.7
N R 0 - 51 2. 11 2| e 21 25.0 170 -18.7
T st 0 - 0 - B |[&sts 0 - 0 B
| EMEE 3 0.0 30 0.0 or L : 3%
\ : — —— i) : . - T 3 3 5 57 -63.2
HE | EEOEE | 12 A | MERAL | 1~2BRH| AERAL &l 30| 3.8f% 232 6.4 " &% 33 -19.5 407 -27.1
i FER 180 1.8 | 2,721 3.2 = R 32 23.1 359 5.5 FR 12 33.3 116 7.4
R 852 5.2 | 10,447 4.1 B gy 25| 2.5f% 254 -23.0 E [ 4 77.8 139 7.9
I SN N sy : '
PR s 0 i 17 <110 | | BB |[M5HE 0 R 52 2665 | | B |wafs 0 - 13 i
= S, - - - = N, : -
By |[piEE 121 34.4 | 1,922 -28.9 By |[PiEE 21 -19.2 188 -27.1 iy [ 0 I 11 -15.4
& 1,153 4.0 | 15,107 - 3 : : .
— & 1 2.2 Gt 78 23.8 853 -12.1 il 16 42,9 279 2.6
R 9 -55.8 296 -20.9 SEN - 5
T : .- ! " FR 4 60.0 67 ~46.0 L [T 20 -16.7 318 -15.6
iy - -24.9 -
o : 1 s 155 0 19 ~75.6 /f\ 15 55 -30.4 457 14,1
bl o= — 4 SR 9 e
il 4 = I R 0 - 2 0.0 i HEAE 26 Y 29 0.0
By |[pdEE 5 0.0 60 62.2 iy PR 0 - 4 -50.0 oo 1 -85.7 42 27.6
il 24 -50.0 484 -16.6 ai 4 -60.0 92 -56.6 " il 102 7.3 846 -15.1
R 19 18.8 251 13. 5 j 5 '
S o ney o - 6 " FR 0 B 97 -14.9 - R 17 13.3 287 -8.0
,;5@% 0 9 £ , 2 .Li; 5 HR 0 - 51 3.4 4% TR 13 -60.6 550 11.6
= et - s T st 0 - 0 - I |5 : 33.9
A , SR TNEECESE 0 - 2 -33.3
Hy |[PHREE 4 4 53 39.5 iy [P 0 - 7 2.3 1% iy (PR 11 0.0 97 6.7
&t 232 8.6f% | 2,188 2.81% Gt 0 i 155 17.4 it 41 -30.5 936 2.6
R 16 14.3 160 L2 . . '
P . E - R 3 50.0 24 -33.3 R 24 33.3 206 -11.6
5 8 -66.7 400 3.5 1% A1 0 - 51 -21.5 2L e 36 e 181 -12.1
BE |wsts 0 - 0 - s = i .
e : - JI| | A’ﬁﬂf{ﬁ 0 - 0 - B |t 0 - 0 B
My | PHEE 24 20 42.9 T A 1 4 9 0.0 o (e 1 -80.0 26 -33.3
it 28 -30.0 580 2.21% it 4 215 " & 5 E
& % 84 -23.6 &t 61|  2.7f% 413 -14.5




